November 21, 2019

1. Which of the following is equivalent to
the expression (Zx4 - 5x* )2?

A) =21x8 2.

Do (-3"¢>= () X
= C‘XB

D) 9x!6

2. Which of the following is equivalent to
(21)3c2 +b’c— 4bc) - (b’c2 - b’c~- 4bc)?
3 2
A) 0 2b ¢ +h~be
B) b’¢’ _ b-sCL“*BLC 1 4&

b’c® + 2b%c

D) b’c +2b*c—8b
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25* x 5
25°

3. When completely simplified,
has a value of:

\ C
g)? btx25 ap
J s 2{5'; B 2155'

D) 25

]

4. Which of the following is equivalent to
5
x7, for all values of x?

5 &

1 ><':. X
B) —

X

@
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5. Which of t&e follow’ng s the expanded
] form of 4(5x +3)(2x —1)?

L

5 A) 40x% +12
B) 40x*-12
C) 40x*—4x+12

4<IOXL~ ExtbX - 3)

D) ) 40x° +4x —12 - L('(U)Xl-{-)\ ~3>
= 40X H4x-12

a*
(x'=y")

6. If

=a* and y > 0, what is the
a

value of y?

v o),
B) 1

@:? Q =k

D) 4
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. Which sequence of steps correctly gives
3
the value of 42 and algebraically justifies
the value?

3 !

2 =P =Y =5
3
45=(@+3=16+3=§

8. What is the factored form of
16x° — 8x7y* + y°2 =
=
ﬂA) (4x3 _ y3)2
B) (4x° +y') b -8 +1=9

C) (4x+y)° o~
D) (6x*+y)} -4 -4

-4 -+

4\@&13 ) & )

4_x3 <°{-X3~\{5) “13 < 4')&3—\13)




